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Independent auditor’s report on the consolidated non-
financial statement 
pursuant to art. 3, paragraph 10 of Legislative Decree 254/2016 and to art. 5 of Consob Regulation 
20267 
 

To the Board of Directors of Gefran SpA  
 
 

Pursuant to article 3, paragraph 10 of the Legislative Decree 254 of 30 December 2016 (the Decree) 
and to article 5 of CONSOB Regulation 20267, we have performed a limited assurance engagement on 
the Consolidated non-financial disclosure of Gefran SpA and its subsidiaries (the Gefran group) as of 
and for the year ended 31 December 2017, in accordance with article 4 of the Decree, approved by the 
Board of Directors of Gefran SpA on 13 March 2018 (the NFS). 
 

 

Responsibility of the directors and of the Board of Statutory Auditors for the NFS 
 

The directors are responsible for the preparation of the NFS in accordance with article 3 and 4 of the 
Decree and with the Sustainability Reporting Standards, issued by Global Reporting Initiative in 2016 
(GRI Standards), with reference to selected GRI Standards, as laid down in paragraph “Note on 
methodology” of the NFS, identified by them as the reporting standard.  
 

The directors are responsible, in accordance with the law, for the implementation of internal controls 
necessary to ensure that the NFS is free from material misstatement, whether due to fraud or 
unintentional errors.  
 

The directors are responsible for identifying the content of the NFS, within the matters mentioned in 
article 3, paragraph 1, of the Decree, considering the activities and characteristics of the group and to 
the extent necessary to ensure the understanding of the group activities, its trends, its results and 
related impacts.  
 

The directors are responsible for defining the business and organisational model of the group and, 
with reference to the matters identified and reported in the NFS, for the policies adopted by the group 
and for the identification and management of risks generated or faced by the group. 
 

The Board of Statutory Auditors is responsible for overseeing, in accordance with the law, the 
compliance with the Decree. 
 
 

Auditors’ independence and quality control 
 

We are independent in accordance with the principles of ethics and independence disclosed in the 
Code of Ethics for Professional Accountants published by the International Ethics Standards Board for 
Accountants, which are based on the fundamental principles of integrity, objectivity, competence and  
professional diligence, privacy and professional behaviour. Our audit firm adopts the International 
Standard on Quality Control 1 (ISQC Italia 1) and, accordingly, maintains an overall quality control 
system which includes processes and procedures for the compliance with ethical and professional 
standards and with applicable laws and regulations. 
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Auditors’ responsibility 
 

We are responsible for expressing, on the basis of the work performed, a conclusion regarding the 
compliance of the NFS with the Decree, with the GRI Standards. We conducted our engagement in 
accordance with International Standard on Assurance Engagements 3000 (Revised) – Assurance 
Engagements Other than Audits or Reviews of Historical Financial Information (ISAE 3000 Revised), 
issued by the International Auditing and Assurance Standards Board (IAASB), for limited assurance 
engagements. The standard requires that we plan and perform procedures to obtain a limited 
assurance that the NFS does not contain material errors. The procedures performed in a limited 
assurance engagement are less in scope than those performed in a reasonable assurance engagement 
in accordance with ISAE 3000 Revised and, therefore, do not provide us with a sufficient level of 
assurance to become aware of all significant facts and circumstances that might be identified in a 
reasonable assurance engagement.  
 
The procedures performed on the NFS are based on our professional judgement and consisted of 
interviews, primarily with company personnel responsible for the preparation of the NFS, in the 
analysis of documents, recalculations and other procedures aimed at obtaining evidence as 
appropriate. 
 
In particular, we have performed the following procedures: 
1. analysis of the relevant matters reported in the NFS relating to the activities and characteristics 

of the group, in order to assess the reasonableness of the selection process used, in accordance 
with article 3 of the Decree, with the reporting standard adopted;  

2. analysis and assessment of the criteria used to identify the consolidation area, to assess its 
compliance with the Decree; 

3. comparing the financial information reported in the NFS with the information reported in the 
group consolidated financial statements; 

4. understanding of the following matters: 
o business and organisational model of the group, with reference to the management of the 

matters specified by article 3 of the Decree; 
o policies adopted by the group with reference to the matters specified by article 3 of the 

Decree, actual results and related key performance indicators; 
o main risks, generated or faced by the group, with reference to the matters specified in 

article 3 of the Decree. 
With reference to such matters, we have carried out some validation procedures on the 
information presented in the NFS and some controls as described under point 5 below; 

5. understanding of the processes underlying the preparation, collection and management of the 
qualitative and quantitative material information included in the NFS. In particular, we have 
held meetings and interviews with the management of Gefran SpA and we have performed 
limited analysis and validation procedures, to gather information about the processes and 
procedures for the collection, consolidation, processing and submission of the non-financial 
information to the function responsible for the preparation of the NFS. 
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 Moreover, for significant information, considering the activities and characteristics of the group: 
-  at a group level, 

a) with reference to the qualitative information included in the NFS, and in 
particular to the business model, the policies adopted and the main risks, we 
carried out interviews and obtained supporting documentation to verify its 
consistency with available evidence; 

b) with reference to quantitative information, we performed analytical 
procedures and limited tests, in order to assess, on a sample basis, the 
consolidation of the information;  

- for the production site of Gefran SpA which was selected on the basis of its activities, 
its contribution to the performance indicators at consolidated level and its location, 
was carried out testing procedures and gathered supporting documentation regarding 
the compliance with procedures and calculation methods used for the key 
performance indicators.  

 
 

Conclusions 
 

Based on the work performed, nothing has come to our attention that caused us to believe that the NFS 
of the Gefran group as of 31 December 2017 and for the year then ended has not been prepared, in all 
material respects, in compliance with articles 3 and 4 of the Decree and with the GRI Standards, with 
reference to selected GRI Standards, as laid down in paragraph “Note on methodology” of the NFS. 
 

 

Other aspects 
 

The comparative data presented in the NFS in relation to previous years has not been subjected to any 
procedures. 
 
 
Brescia, 29 March 2018 
 
 
Signed by       Signed by 
 
 
Alessandro Mazzetti      Paolo Bersani 
(Partner)       (Authorised signatory) 
 
 
This report has been translated into English from the original version, which was issued in Italian, 
solely for the convenience of international readers. 



 

 

��%�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

 

����

�

�

�

�

�

�

�

�

�

�F��������	����������
����

������������
���������������

�����������<-<�<�
 



 

 

��&�

 















 

 

�&��

�

�

�

�

�

�

�

�
 

�������������	�����

�	������C���
�����������

�������������������������

��������<-<�<��



 

 

�&%�



Board of Statutory Auditors’ Report to the Shareholders' Meeting of Gefran S.p.A. 
pursuant to article no. 153 of Legislative Decree no. 58 of 24 February 1998 (TUF) 
and article 2429, third paragraph, of the Italian Civil Code 
 
Dear Shareholders, 

In the year ended 31 December 2017, we carried out supervisory activities in 

compliance with the Law, aligning our operations with the rules of conduct applied to 

the Boards of Statutory Auditors of listed companies, issued by the National Council 

of Chartered Accountants and Accounting Experts (Consiglio Nazionale dei Dottori 

Commercialisti e degli Esperti Contabili), with the recommendations issued by the 

National Commission for companies and the Stock Exchange (Consob) as regards 

corporate auditing and the activities of the Board of Statutory Auditors as well as 

with the guidelines contained in the Code of Conduct issued by the Italian Stock 

Exchange.  

As regards the regulatory auditing tasks, pursuant to Legislative Decree no. 39 of 27 

January 2010 (Legislative Decree 39/2010), they have been assigned to the external 

auditors PricewaterhouseCoopers SpA, appointed by the Shareholders' Meeting of 21 

April 2016 for a nine year period, from 2016 to 2024. 

The Board of Statutory Auditors currently in office was appointed by the 

Shareholders' Meeting held on 29 April 2015, and on 20 April 2017 the Statutory 

Auditor Alessandra Zunino de Pignier was replaced by Roberta Dell'Apa.  

Also pursuant to the recommendations issued by Consob with Communication 

DEM/1025564 of 6 April 2001, as amended, we wish to inform you and report about 

the following: 

 We have monitored compliance with the Law and with the Articles of 

Association. 

 We have attended the meetings of the Board of Directors and specific 

preparatory meetings about the agenda items, as well as the meetings held by 

the Control and Risk Committee and the Remuneration Committee, and we 

have obtained from the Directors periodic information on the general 

performance of the company, its anticipated evolution, as well as on the most 

significant business, financial and equity transactions carried out by the 

Company; moreover, we have ensured that the resolutions issued and 

implemented were compliant with the Law and the Articles of Association and 

that they were clearly not imprudent, risky, in potential conflict of interest and 

in contrast with the resolutions issued by the Shareholders' Meeting or such as 

to jeopardise the integrity of the company's assets. During the auditing carried 

out, the existence of atypical and/or unusual transactions did not emerge. In 

order to execute our mandate, we have analysed the information flows 

originating from different corporate structures, from the Internal Audit 

function, outsourced, and we have also conducted auditing on the management 

of the company and on the external auditors. 



 The Board of Directors, on 13 March 2018, upon proposal submitted by the 

Remuneration Committee, has approved the “Annual Remuneration Report”, 

prepared pursuant to article 123-ter of TUF and in compliance with the 

provisions of article 6 of the Code of Conduct. 

 We have monitored the compliance and the correct application of the 

“Regulations for transactions with related parties” adopted by the Board of 

Directors on 12 November 2010, pursuant to article 4 of the Consob 

Regulations, under Resolution no. 17221 of 12 March 2010, as amended. 

 The Company has prepared the 2017 financial statements according to the 

international accounting standards (IAS/IFRS). These financial statements 

were submitted for an audit to be conducted by PricewaterhouseCoopers SpA, 

which issued its Report on 29 March 2018. 

 The Company has also prepared the 2017 consolidated financial statements of 

the Gefran Group in compliance with the international accounting standards 

(IAS/IFRS). These financial statements were also submitted for an audit to be 

conducted by PricewaterhouseCoopers SpA, which issued its Report on 29 

March 2018. 

 The Company has also prepared the non-financial Consolidated Statement as 

of 31/12/2017 pursuant to Legislative Decree 254/2016 and referring to the 

international reporting standards issued by the Global Reporting Initiative 

"Substainability Reporting Standards" in the GRI-Referenced version. This 

Statement was also submitted for an audit to be conducted by 

PricewaterhouseCoopers SpA, which issued its Report on 29 March 2018. 

 The text of the Audit Report has been profoundly revised as a result of the 

changes made to the audit reform implemented in the Italian legal system 

through Legislative Decree no. 135/2016, which amends the provisions 

contained in Legislative Decree no. 39/2010. The form and content of the new 

Report have changed, both in terms of declarations and information. With 

regard to opinions and declarations, the external auditors, in the financial 

statements audit report, have: 

- expressed the opinion that Gefran's separate and consolidated financial 

statements provide a truthful and correct representation of the equity and 

financial situation of Gefran and of the Group at 31 December 2017 and of the 

net result and cash flows for the year closed on that date, in accordance with 

the international financial reporting standards adopted by the European Union 

and the provisions issued pursuant to Article 9 of Legislative Decree 38/05 and 

Article 43 of Legislative Decree 135/15. 

- expressed the opinion that the Reports on Operations accompanying the 

separate and consolidated financial statements as at 31 December 2017 and 

certain specific information contained in the "Report on corporate governance 

and ownership structure" specified in article 123-bis, paragraph 4, of the TUF - 

the responsibility for which falls to the directors - are drafted in compliance 

with the law. 



- declared that they have nothing to report regarding any significant errors in 

the Report on Operations, based on the knowledge and understanding of the 

company and of the related context acquired in the course of the audit. 

- On 29 March 2018 the external auditors also submitted to the Board of 

Statutory Auditors the Additional Report required by Article 11 of EU 

Regulation no. 537/2014, which reports no significant deficiencies in the 

internal control system, with reference to the financial reporting process, 

worthy of being brought to the attention of those responsible for corporate 

governance. 

Enclosed with the additional report, the external auditors also submitted to the 

Board of Statutory Auditors a declaration relating to their independence, as 

required by article 6 of EU regulation no. 537/2014, from which no situations 

emerge that could compromise their independence.  

Furthermore, the Board has also taken due account of the transparency report 

prepared by the external auditors and published on their website pursuant to 

article 18 of Legislative Decree 39/2010. 

Based on the activities carried out and considering the evolving nature of the 

Internal Control System, the Board of Statutory Auditors has expressed an 

assessment of the overall adequacy of the same and acknowledged, in its 

capacity as Internal Control and Auditing Committee, that there are no relevant 

findings to report to the Shareholders' meeting. 

The external auditors PricewaterhouseCoopers SpA have communicated the 

fees for the auditing of the annual and consolidated financial statements of 

Gefran S.p.A. at 31 December 2017 and of the Gefran Group, as well as for the 

limited auditing of the half year reports, for the performance of control 

activities on the keeping of accounting records and all additional assigned 

tasks. The fees are broken down as follows, referencing the Directors' Report 

on Operations for additional details: 

 

External audit Pwc Spa Parent Company 86,000 

External audit Pwc network Subsidiaries 217,000 

External audit Non-

Financial Statement 

Pwc Spa Parent Company 19,000 

Certification services Pwc Spa Parent Company 30,000 

Total Euro   352,000 

 

Taking into account the tasks assigned to same and to their network by Gefran 

and by the Group companies, the Board of Statutory Auditors does not believe 

that there are any critical issues concerning the independence of the external 

auditors. 

 

 Among the most relevant transactions reported for 2017, the following, 

referencing the Directors' Report on Operations for additional details, should 

be noted: 



-On 30 January 2017, the cancellation of the subsidiary Gefran South Africa (Pty) 

Ltd., already in liquidation, became effective.   
-The administrative procedure to close the sales office in Russia was completed on 

31 March 2017.   
- On 20 April 2017, the ordinary Shareholders' Meeting of Gefran SpA resolved to 

approve the 2016 financial statements and to distribute a dividend of EUR 0.25 

per share, to appoint the current new members of the Board of Directors for the 

three-year period 2017-2019, and to authorize the Board of Directors to 

purchase up to a maximum of 1,440,000 treasury shares for a period of 18 

months from the date of the Shareholders' Meeting. The shareholders also 

expressed a favourable opinion of the general Group remuneration policy 

adopted by Gefran, pursuant to Article 123-ter of the TUF. At the end of the 

Shareholders’ Meeting, the new Board of Directors met and appointed Ennio 

Franceschetti Chairman and Managing Director, Maria Chiara Franceschetti, 

Vice-Chairman and Alberto Bartoli Chief Executive Officer. 

-On 12 June 2017, the Parent Company Gefran S.p.A. signed a contract with a 

major international lift construction group; the agreement provides for the 

supply of inverters for the American market, with a total value of approx. EUR 

23 million and a duration of 3 years.   
-The operational procedure to close the sales office in Mexico was completed on 

21 July 2017.  

-On 26 July 2017, the Parent Company Gefran S.p.A. formalised the sale of 50% 

of the shares of Axel S.r.l., equal to 15% of the total.   
- On 17 October 2017, the Shareholders' Meeting of Gefran SpA approved, in 

extraordinary session, the proposal to amend articles 11, 14, 15, 16 of the 

Articles of Association and, in ordinary session, to update the Rules of said 

Meetings. 

 We have acquired knowledge and we have monitored, within our area of 

competence, over the appropriateness of the Company's organisational 

structure, the compliance with the correct administration principles, the 

alignment with the provisions applicable to the subsidiaries pursuant to article 

114, second paragraph, of TUF, by acquiring information from the managers of 

the company's functions and by meeting with the external auditors. 

 We have assessed and monitored over the adequacy of the administrative-

accounting system, as well as on the reliability thereof, in representing 

correctly the operational facts; this was accomplished by obtaining information 

from the Director in charge of preparing the accounting and corporate 

documents, by reviewing the company's documentation and analysing the 

results of the work carried out by the external auditors 

PricewaterhouseCoopers SpA. The CEO and the Director in charge of 

preparing the accounting and corporate documents have declared, with an 

appropriate report attached to the 2017 financial statements: a) the adequacy 

and the actual application of the administrative accounting procedures; b) the 



compliance of the content of the accounting documents with international 

accounting standards; c) the consistency of the documents with the results of 

the accounting ledgers and records and their accuracy in correctly representing 

the equity, economic and financial position of the Company. A similar 

declaration is attached to the consolidated financial statements of the Gefran 

Group. 

 We have assessed and monitored the adequacy of the internal control system 

through: a) a review of the report from the Manager of the Internal Audit about 

the internal control system; b) a review of the reports from the Internal Audit 

as well as the reporting on the results from monitoring activities; c) the 

attendance at the meetings of the Control and Risk Committee and the 

acquisition of related documentation; d) the meetings with the Director in 

charge of preparing the accounting and corporate documents. Participation in 

the Control and Risk Committee has allowed the Board of Statutory Auditors 

to coordinate, together with the Committee itself, the performance of its 

functions in the capacity of “Internal Control and Auditing Committee” 

pursuant to article 19 of Legislative Decree 39/2010 and, in particular, to 

monitor: a) the processes related to financial reporting; b) the efficacy of the 

internal control system, internal auditing and risk management; c) the 

regulatory auditing of the accounts; d) all aspects related to the independence 

of the external auditors.  

 We have held periodic meetings with the staff of the external auditors 

PricewaterhouseCoopers SpA, pursuant to article 150, third paragraph, of TUF 

and no significant data or information that needs to be included in this Report 

has emerged. Moreover, no significant matters nor significant deficiencies in 

the internal control system, with reference to the financial reporting process, 

have emerged during the auditing. 

 We have monitored the methods applied to the enactment of the Code of 

Conduct adopted by the Company, in accordance with the Report on 

Corporate Governance and Ownership Structure approved by the Board of 

Directors on 13 March 2018. With reference to the specific recommendations, 

within the area of competence of the Board of Statutory Auditors, please be 

informed that: 

-we have checked the correct application of the criteria and procedures, for 

the assessment of independence, adopted by the Board of Directors; 

 -as regards the self-assessment of the independence requirement applied to 

the members of the Board of Statutory Auditors, we have verified compliance 

with it initially, after our appointment, and subsequently during the Board of 

Statutory Auditors meetings of 11 February 2016, 3 March 2017 and 8 March 

2018, using methods compliant with those adopted by the Directors; 

  - we have observed the provisions set forth in the regulations for the 

management and the treatment of corporate confidential and privileged 

information. 

 



 With reference to Legislative Decree no. 231 of 8 June 2001, the Company has 

adopted, for some time, an organisational and management model, the contents 

of which are compliant with the best practices. -. During the year, the Board of 

Statutory Auditors has always maintained a constant information flow with the 

members of the Supervisory Body. From the information acquired, no 

criticalities regarding the correct implementation of the organisational model 

that would need to be included in this report, have emerged. 

 We have not received any complaints pursuant to article 2408 of the Italian 

Civil Code, nor have we any knowledge of facts or claims that need to be 

brought to the attention of the Shareholders' meeting. 

 We have verified compliance with the laws concerning the preparation of the 

separate and consolidated financial statements and the Directors' Report on 

Operations, both directly and with the assistance of the managers of the 

company's functions and through information obtained by the external 

auditors, and we do not have any particular observations to report. 

 The members of the Board of Statutory Auditors have met the communication 

requirements applied to the assignment of administration and auditing of 

Italian corporations, within the time frames and the methods set forth in article 

148-bis of TUF and the articles under Section II of Title V-bis of the already 

mentioned Issuers’ Regulation. 

 During 2017, the Board of Statutory Auditors, appointed on 29 April 2015, has 

met 10 times and has attended 8 meetings held by the Board of Directors, 5 

meetings held by the Control and Risk Committee, and 4 meetings held by the 

Remuneration Committee.  

Based on its own activity and on the acquired information, the Board of Statutory 

Auditors has found no omissions, reprehensible facts, irregularities, or any 

circumstance that would require reporting to the supervisory body or mentioning in 

this Report. 

The Board of Statutory Auditors, acknowledging the financial statements at 31 

December 2017, has no objections regarding the proposal for resolutions submitted 

by the Board of Directors. 

Having reached the end of its mandate, the Board wishes to express its gratitude for 

the trust shown.  

Provaglio d’Iseo, Italy, 29 March 2018 
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